


- ① $x^2 - a^2 + 4y^2 = \text{const}$, $(\frac{x}{2})^2 + y^2 = c^2$, Ellipsen
- ② (a) $\partial_x [x \sin(x) + \cos(x)]$ (b)  $\int_0^1 x dx = 1$ (c) $\int_{-\pi/2}^{\pi/2} dx \sin(x) (3 \sin(x)) = 0$
- ③ nach \int_0 - Fahrplan; $\mathcal{C}: \vec{r} = R(\tau - \sin \tau, 1 - \cos \tau)$, $\tau = 0 \dots \pi$; $v = |R(1 - \cos \tau)| = R\sqrt{2} \sqrt{1 - \cos \tau}$
 $L = \int_{\mathcal{C}} ds = R\sqrt{2} \int_0^\pi d\tau \sqrt{1 - \cos(\tau)} \stackrel{\tau \rightarrow 2\tau}{=} R\sqrt{2} \int_0^{\pi/2} d\tau \sqrt{2 \sin^2(\tau)} = 4R \int_0^{\pi/2} d\tau (-\frac{1}{2} \cos \tau) = 4R$
- ④ (a) $(0, 1, 0)$
 (b) $= \vec{e}_r \frac{1}{r} s + \vec{e}_\varphi \frac{1}{r} r' s + \vec{e}_\varphi \frac{1}{r} r' c = \dots = (s c - c s, s^2 + c^2, 0) = (0, 1, 0)$
 [mit $s = \sin \varphi$, $c = \cos(\varphi)$ etc.] \rightarrow (musste rauskommen, da $y = r s$ in Kugelkoordin.)
- ⑤ $g(\vec{r}) = \frac{\rho}{r} f(x)$; $\text{Lsg } \vec{E} = f(x) \vec{e}_x$, $\vec{\nabla} \cdot \vec{E} = f' \stackrel{!}{=} s$, $f = \frac{\rho}{r} \theta(x) + \text{const}_x$,
 $\vec{E}(x) \stackrel{!}{=} -\vec{E}(-x) \Rightarrow \text{const}_x = -\frac{1}{2} \frac{\rho}{r}$; $\vec{E} = \frac{\rho}{r} (\theta(x) - \frac{1}{2}) \vec{e}_x$
- ⑥ (a) $x^2 \partial_x^2 x^3 = x^2 \partial_x (3x^2) = 6x^3$; $e^{-6x} x^3$
 (b) $(\vec{r} \cdot \vec{\nabla}) r^2 = (x \partial_x + y \partial_y + z \partial_z)(x^2 + y^2 + z^2) = 2r^2$; $e^2 r^2$
 (c) geom. Reihe, $= \frac{1}{2} \sum_{n=0}^{\infty} (-\frac{1}{2} \partial_x)^n \frac{1}{2} (e^x + e^{-x}) = \frac{1}{4} (e^x \sum (-\frac{1}{2})^n + e^{-x} \sum (\frac{1}{2})^n) = \frac{1}{2} (\frac{1}{3} e^x + e^{-x})$
- ⑦ $\vec{\nabla} \cdot \vec{B} = 2 \frac{\partial}{\partial z} r^2 - \frac{\vec{r} \cdot (\vec{\nabla} z)}{z} - z \frac{(\vec{\nabla} \cdot \vec{r})}{z} = 4z - z - 3z = 0$. \vec{B} quellenfrei \checkmark
 $(\vec{r} \cdot \vec{\nabla}) \vec{B} = 2 \frac{\partial}{\partial z} \frac{(\vec{r} \cdot \vec{\nabla}) r^2}{z} - \frac{\vec{r} \cdot (\vec{r} \cdot \vec{\nabla}) z}{z} - z \frac{(\vec{r} \cdot \vec{\nabla}) \vec{r}}{z} = 2 [2r^2 \vec{e}_z - z \vec{r}] = 2 \vec{B}$. ist $\vec{E} \neq \checkmark$
 $\vec{A} = -\vec{r} \times \frac{1}{4} \vec{B} = \frac{1}{4} \vec{B} \times \vec{r}$
 $4 \vec{\nabla} \times \vec{A} = \vec{\nabla} \times (\vec{B} \times \vec{r}) \stackrel{\text{Bianchi}}{=} \vec{B} \frac{(\vec{\nabla} \cdot \vec{r})}{z} + \frac{(\vec{r} \cdot \vec{\nabla}) \vec{B}}{z} - \vec{r} \frac{(\vec{\nabla} \cdot \vec{B})}{z} - \frac{(\vec{B} \cdot \vec{\nabla}) \vec{r}}{z} = 4 \vec{B} \checkmark$
- ⑧ $n(t) = \frac{N}{r(R_0 - vt)}$; $\text{Lsg } \vec{r} = j(x, t) \vec{e}_x$; $\text{Glt: } \vec{\nabla} \cdot \vec{j} = j' \stackrel{!}{=} -\dot{n} \Rightarrow j = -\dot{n} x + \text{const}(t)$
 $\vec{j}(x=0, t) \stackrel{!}{=} \vec{0} \Rightarrow \text{const}(t) = 0 \Rightarrow \vec{j}(x, t) = -\dot{n} x \vec{e}_x = -\frac{v N x}{r(R_0 - vt)^2} \vec{e}_x$
- ⑨ $\dot{G} + 3t^2 G \stackrel{!}{=} \delta(t-a)$; $G_{\text{hom}} = e^{-t^3}$; z.B. $\text{Vllt: } G = e^{-t^3} u(t)$, $e^{-t^3} \dot{u} = \delta(t-a)$,
 $\dot{u} = e^{t^3} \delta(t-a) = e^{a^3} \delta(t-a)$, $u = e^{a^3} \theta(t-a) + \text{const}_t \Rightarrow G(t, a) = e^{-t^3} (C + e^{a^3} \theta(t-a))$
- ⑩ $c_n = \frac{1}{L} \int_0^L dx \beta \delta(x - \frac{L}{2}) e^{-in \frac{2\pi}{L} x} = \frac{1}{L} \beta e^{-in\pi} = \frac{\beta}{L} (-1)^n$
 $T(x, t) = e^{t D \partial_x^2} \sum_{n=-\infty}^{\infty} \frac{\beta}{L} (-1)^n e^{in \frac{2\pi}{L} x} = \sum e^{-t D n^2 (\frac{2\pi}{L})^2} \frac{\beta}{L} (-1)^n e^{in \frac{2\pi}{L} x}$
 $T(\frac{L}{2}, t) = \sum e^{-t D n^2 (\frac{2\pi}{L})^2} \frac{\beta}{L} (-1)^n \xrightarrow{t \rightarrow 0} \frac{\beta}{L} \sum_{n=-\infty}^{\infty} e^{-t D n^2 (\frac{2\pi}{L})^2} = \frac{\beta}{\sqrt{4\pi^2 t D}} \sum_{n=-\infty}^{\infty} e^{-n^2} = \frac{\beta}{\sqrt{4\pi t D}}$
- ⑪ $\tilde{f}(\vec{k}) = \int d^3 r e^{-i\vec{k} \cdot \vec{r}} f_0 \frac{a}{r} e^{-r/a} = 2\pi f_0 \int_0^\infty dr r^2 \frac{a}{r} e^{-r/a} \int_{-1}^1 du e^{-i\vec{k} \cdot \vec{r} u} = \frac{1}{-i\vec{k}} (e^{-i\vec{k} \cdot \vec{r}} - e^{i\vec{k} \cdot \vec{r}})$
 $= 2\pi f_0 \frac{a}{-i\vec{k}} \int_0^\infty dr (e^{-r/a - i\vec{k} \cdot \vec{r}} - e^{-r/a + i\vec{k} \cdot \vec{r}})$
 $= 2\pi f_0 \frac{a}{-i\vec{k}} \left(-\frac{1}{-\frac{1}{a} - i\vec{k}} + \frac{1}{-\frac{1}{a} + i\vec{k}} \right) = 4\pi f_0 \frac{a^3}{1 + k^2 a^2}$

Ergebnisse: ab 6. Okt.; online + Aushang (E6)

Einsicht im Prüfungsamt (D3-155)